
  6

60
7 2

0t
h A

ve
nu

e E
as

t   
Se

at
tle

, W
A  

98
11

2
TE

L (
20

6)
 25

7-4
23

4  
 CE

LL
 (2

06
) 8

50
-6

77
9

am
sa

rc
h@

co
m

ca
st

.ne
t

AN
NE

 SC
HW

AB
 AR

CH
IT

EC
T

BA
NB

UR
Y R

ES
ID

EN
CE

82
75

 SE
 61

st
 St

re
et

Me
rc

er
 Is

la
nd

, W
as

hi
ng

to
n  

98
04

0
C O

 P 
Y R

 I G
 H 

T  
 20

19
     

 An
ne

  S
ch

wa
b 

Ar
ch

ite
ct

     
     

Al
l R

ig
ht

s R
es

er
ve

d.
 

Re
pr

od
uc

tio
n 

by
 an

y  
m

ea
ns

 is
 st

ric
tly

 fo
rb

id
de

n 
wi

th
ou

t p
rio

r p
er

m
iss

io
n 

of
 An

ne
 Sc

hw
ab

.

 PR
OJ

EC
T #

:   
18

.01
     

  S
CA

LE
:  A

S N
OT

ED
     

   D
AT

E:  
4/

10
/1

9
R E

 V 
I S

 I O
 N 

S: 
  

#1
da

te
   6

/2
7/

19
   

 

CORNER POST TO BEAM CONNECTION
3/4" = 1'-0"   3

6X6 P.T. (APPEARANCE GRADE) COL.

10" ROUND REIN. CONC. PLINTH -
W/(4) #4     VERTS,
(2) #3 HORIZ. LOOP TIES @ TOP,
#3 HORIZ. LOOP TIES @10" O.C. -
2" CONC. COVERAGE OF REBAR 
IN ALL CASES.

SEE FOOTING SCHEDULE FOR 
FTG. SIZE & REINFORCEMENT

CHAMFER TO BASE

CBS66 POST BASE 

8"

GRADE OR PAVING

DECK FOOTING & PLINTH - TYP.
3/4" = 1'-0"   1

6"
 M

IN
.

6"

11"

5 1/2" x 10 1/2" GLB F.B.

6X6 POST BELOW

CUSTOM POST TO BEAM CORNER
CONN. CAP (SIM. TO ECCLL) 
FABRICATED FROM 3/16" STL. PL. -
GALV. W/ (6) 5/8" THROUGH BOLTS 

4X10 

11
"

5 1/2" x 10 1/2" GLB F.B.

6X6 POST BELOW

CUSTOM POST TO BEAM CORNER
CONN. CAP (SIM. TO CC66 COL. CAP) 
FABRICATED FROM 3/16" STL. PL. -
GALV. W/ (6) 5/8" THROUGH BOLTS 

6"

CORNER POST TO BEAM CONNECTION
3/4" = 1'-0"   2

5 1/2" x 10 1/2" GLB F.B.

WALL /  BEAM DETAIL
3/4" = 1'-0"   5

POST TO BEAM CONNECTION
3/4" = 1'-0"   4

5 1/2" x 10 1/2" P.T. GLB - FLUSH BEAM

6X10

6X6 POST BELOW

CCT COLUMN CAP

5 1/2" x 10 1/2" GLB F.B.

5
6

1
4

TYP. WALL & FLR. SECTION -
SEE SECTION

CONT. METAL DRIP FL'SH'G

CONT. 5/4 X 5/4 WD. TRIM

2X8 JSTS ON LUS28 HANGERS

FOOTING TO BEAR ON DENSE,
SANDY SOIL PER GEOTECHNICAL 
REPORT REQUIREMENT

+/
-  

3'
-0

"

1 
1/

4"
2 

3/
4" 6 

1/
2"

1 1/4"

4"
3"

1 
1/

2"

11"

B

B

A

A

2 1/2"

2 1/2" X 8 1/2" LEG BELOW

111 DEGREE ANGLE (VERIFY)

SHEAR WALL SCHEDULE

MARK    PANEL       NAILING

S1     1/2" CDX PLYW'D     8d @ 6" O.C. @ EDGES

      8d @ 12" O.C. IN FIELD

FIRST FLOOR FOUNDATION & FRAMING PLAN
1/4" = 1'-0"      8'-3"

(E) 2X10 FLR. JSTS 
@ 16" O.C.

(E) HDR.

NO CHANGE TO
EXISTING STRUCTURE

(E
) 2

X
10

 P
.T

. D
E

C
K

 J
S

TS
 

@
 1

6"
 O

.C
.

6X10 P.T. BM. (FB4) 6X10 P.T. 

4X
10

 P
.T

. B
M

.

6X
10

 P
.T

. B
M

.

2X8 JSTS 
@ 16" O.C.

TYP. LEDGER:
HANG JSTS TO 
2X8 P.T. LEDGER,
ATTACH LEDGER W/
(2) 1/4" X 4" LEDGERLOKSCREWS
@ 16" O.C.

NOTES:
1.   SEE ARCHITECTURAL PLAN FOR DIMENSIONS
2.   HANG ALL DECK JOISTS TO ALL BEAMS AND LEDGERS 
      UNLESS NOTED OTHERWISE.

(E) LEDGER (E
) 2

X
10

 P
.T

. J
S

TS
 

@
 1

6"
 O

.C
.

(E) LEDGER

(E) LEDGER

5 
1/

2"
 X

 1
0 

1/
2"

 -
M

A
X

. S
PA

N
 1

2'
-0

"
G

.L
.B

. (
FL

U
S

H
) 

- P
.T

.

6 X10 P.T. BM.  

6X10 P.T. BM. 

2X
10

 P
.T

. D
E

C
K

 J
S

TS
 

@
16

" O
.C

.

STEEL SPIRAL STAIR COLUMN
ON STEEL MOUNTING PLATE PER
STAIR SHOP DRAWINGS -
SEE DETAIL 1/6 FOR FOOTING -
TOP OF CONCRETE PLINTH AT
TOP OF SLAB ELEVATION. 

EQ.EQ.

14'-2"

LINE OF ROOF ABOVE

(E
) R

O
O

F 
TR

U
S

S
E

S
 

@
 2

4"
 O

.C
., 

5/
12

 S
L.

R
O

O
F 

TR
U

S
S

E
S

 
@

 2
4"

 O
.C

., 
5/

12
 S

L.

4X
8 

H
D

R
.

(2) 1 3/4" X  7 1/4" LVL HDR. (H1)

5 1/2" X 12" X 15' G.L.B. HDR.

NO CHANGE TO
(E) ROOF STRUC.

8'-3"2'-0"

26
'-9

" RIDGE

ROOF FRAMING PLAN
1/4" = 1'-0"      

1
  4

1
  4

1
  4

1
  4

(2) 2X4 TRIMMERS

WIDEN WALL TO 5 1/2" FRAMING
OR WIDER  AS REQ'D BY DR. FR.

6X6 P.T. POST (APPEARANCE GRADE)
ON CONC. PIER ON CONC. FTG. OR 
PIN PILE - TYP. AT (11) LOCATIONS -
SEE DETAIL 

F2.0
2,139 # LOAD

F2.0
3,655 # LOAD

F2.5
3,000 # LOAD

ECLL 
COL. CAP

F2.0
4,882 # 
LOAD

F3.3
5,325# 
LOAD

F3.3
9,030 # 
LOAD

5 1/2" X 10 1/2" G.L.B.
P.T. (FLUSH) (FB3)

(3) 2X4 STUDS,
MIN.

POCKET BM. INTO WALL,
LCE4 COL. CAP EA. SIDE

LUS210 HGR. - TYP.

DTT1Z DECK TIE,
(4) PLACES

5 1/2" X 10 1/2" G
.L.B. 

(FLU
SH

) (FB1) - P.T.

4X10 P.T. (FB2)

LUS28 HGR. -
TYP.

HUCQ410-SDS HGR.

F2.0
3,182 # LOAD

10
'-6

"

8'
-0

"

2
  6

3
  6

1
  6

F2.0
4,278 # LOAD

F2.0
4,278 # LOAD

6X10 P.T. 

EQ.

5
  4

DIAGONAL BRACE - 2" X 2" X 3/16"
STL. ANGLE- SEE S. EXT. ELEV.
AND DETAIL 6

  4

F2.0
1,979 # LOAD

3
  4

DTT1Z DECK TIE,
(10) PLACES

(3) 2X4 STUDS W/SOLID 
BLOCKING IN JST. BAY ABOVE -
ALIGN W/ TRIMMERS ABOVE

CC66 COL. CAP - TYP.

4'
-0

"

S1

S1

HHUS5.5/10
HGR. 

S1

S1

(2) 2X6 TRIMMERS

LSTA24 STRAP

S1

BOTTOM OF FTG. OR PIN PILE ELEV.
3'-0" MIN. ABOVE ELEV. OF BASEMENT SLAB

6
  4

F3.3
5,003 # 
LOAD

5 1/2" X 10 1/2" 
MAX. SPAN 11'-0"
G.L.B. (FLUSH) - P.T.

5
  6

(5) 3/8" X 3 1/2" GALV.LAG SCREWS 
BETWEEN DECK BM. & 2" x 2" x 3/16" 
STL. ANGLE SUPPORTING PRECAST CONC.
STAIR LANDING 

FOOTING SCHEDULE

MARK    SIZE REINFORCING

F2.0     24" X 24" X 8" (2) #4 EA. WAY

F3.3     39" X 39" X 8" (4) #4 EA. WAY

FOUNDATION NOTE
IN LIEU OF REFERENCED FTG. SIZES, 
PIN PILES W/ MIN. CAPACITY PER EA. FTG. 
MAY BE USED.

1
REVISED 
DETAILS

1

1

1

1

1

1

1

1

1

2
  4

REVISED: 
COLUMN LOCATIONS,
REPLACE WD. BRACES W/
STL. DIAG. BRACING,
MOVE SPIRAL STAIR 4' EASTWARD 
(FURTHER FROM SIDE PROP. LINE)

1

1

1
DELETE DETAIL 4/6


